REML &R 5 &R

(1) 4:1 @ 1:7 (3 12zrcm®
(1) M P LM QXML ZoMmElkix
(5+45):5=2:1
XoT, REEOKIXZ 22:1%2=4:1
(2) H#EP LM Q DEFEDLIZ
23:18=8:1
XoT, Q& ADEKEDOHIX
1:(8=-1)=1:7
B) QiEEEzcmd®LTBL
967 : z=8:1
8z =967
z=12%
XoT, Q&E#ET  12rcm?

(1) 9:4 (2 27:19 (3 28cm?
(1) EMNA#P LEMAH% Q IIFMELIT, ToMELIX
(124+6): 12=3: 2
roT, REHEOHKIT 3%2:22=9:4
(2) FEMA#HP LEMNAN# Q DEFEDHIT
33.:23=27:8
XoT, P& ADEEDOHIX
27 : (27—8)=27:19
(B) Q& ADEHEDHIT
8:(27—8)=8:19
ADEFEEZzcm® 275
120: z=8:19
8z = 2280
2=280
XoT, ADEREIT 285 cm?®



